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6.4


Written Task: ICT in developing countries

A developing country is one where the people are relatively poor, but where they want to become richer. For example, some countries in Africa fall into this category. 

A developed country is one where the people are relatively rich. For example, the UK falls into this category.

1
Why do you think that people in developing countries use ICT less than people in developed countries?

	


2
In what ways could ICT be used to help people in developing countries?

	


3
What disadvantages might there be to using more ICT in developing countries?
	


India is what is known as a Newly Industrialised Country (NIC). ICT is widely used in India and they are becoming the best in the world in some areas of ICT. For example, lots of computer software is now written in India.

4
Who benefits from having software written in India?

	


5
Who is disadvantaged by having software written in India?

	


6
Sometimes when you phone a UK bank or insurance company, the call is answered in a call centre in India. What are the advantages and disadvantages of this?
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